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QUESTION 1

Which list comprises business capability components?
A. people, process, solutions

B. technology, people, outcomes

C. process, technology, solutions

D. people, process, technology

Correct Answer: D

QUESTION 2

Which purpose is the Business Architecture domain used for within The Open Group Architecture Framework?
A. to describe the business strategy, governance, organization, and business processes

B. to identify stakeholders, create the architecture vision, and obtain initial approvals

C. to create the blueprint for the application systems to be deployed to the core business processes

D. to describe the logical software and hardware capabilities to support the deployment of business services

Correct Answer: A

QUESTION 3

What are the phases of the Seven Elements framework?
A. Prepare, Plan, Design, Implement, Operate, Optimize.
B. Past, Present, Future.

C. Previous, Present, Posterior.

D. Before, In Between, After.

Correct Answer: B

QUESTION 4
How many maturity levels does Information Technology Infrastructure Library?provide to gauge enterprise maturity?
A.3

B.5

810-440 PDF Dumps | 810-440 Exam Questions | 810-440 Braindumps 2/3


https://www.geekcert.com/810-440.html
https://www.geekcert.com/810-440.html
https://www.geekcert.com/810-440.html

VCE & PDF https://lwww.geekcert.com/810-440.html
2024 Latest geekcert 810-440 PDF and VCE dumps Download

GeekCert.com

D. 10

Correct Answer: B

QUESTION 5
How does understanding the customer\\'s business model holistically address the customer\\'s business challenge?

A. Segmented solutions designed for their specific outcomes makes it easier for them to be more relevant to their
company\\'s business challenges.

B. Customers define how they want to measure success, and we work with them to turn this into metrics and a plan to
achieve results.

C. As your conversations become more focused on their business challenges and value, customers will see you as a
problem solver and not just a sales person.

D. With the comprehensive solution addressing their whole infrastructure, it is easier for customers to see value and
progress, see gaps and what is next, and manage their IT investments.

Correct Answer: C
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